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# & o | CIPEE (Zf4)
T Ff | #m PSR 4 HAL | YE i
EEET P T Ekell m3 350 347.9
RIE T R g m3 50 47.7
HWERT R m3 40 41.9
VEZEFEHALFE T 7R+ uE m3 350 349
PERE T 7" VR A MAERE T 7" VA ML AL e RE H=1250 m 20 20.0
FE T E FLmEE IR m2 33 33
JNERL K T R T 55 E A B 300300 m 74 74.0
b5 B A B ) - 2 BI3E A W=300 L=500 e 60 60. 0
b5 B AEAE, V-1 % |HEEH W=300 L=1000 bia 7 7.0
FE R FLEEE IR m2 50 49.6
HIEYRET BEWE D E LT |HEYm T TAT7WN t=15cmBL T m 20 20.3
AR T 7A77Wh t=10cmBL T m2 280 277.8
A TSRO E R T TA77Vh L=3. 2km m3 11 11.1
W53 TAT 7V b m3 15 14.5
AET HEAE T #ET FAE BRI FEAS20F t=4cm m?2 469 469. 1
BT M-25 t=8cm m?2 469 469. 1
T AT RC-40 t=13cm m2 469 469. 1
PR A T RC-40 t=56cm m2 456 456. 4
B AT IR iR T BT R T X AR T FEHEA" A/ M W=15¢em m 190 187. 4
HAEER T 0 v 7% B m 27 27.0
BEARPRRIE T ayv 7 U—hE REaRL ZIN 18 18.0




t I % B &£ ot % (112)

ERLT

PR HEl AlEk HEHEE LY

V = 347.9 = 347.9 m3
737 Ak HEHEE LY

Vo= 47.7 = 477 m3
R Ak HEFHEE XY

Vo= 41.9 = 4.9 m3
Bt (£EZ1eZE C=0.9)

V = 347.9 4+ 477 — ( 4.9 = 0.9 ) = 349.0 m3
HmEIE Ak HEHEE LY

A = 82.6 = 82.6 m2




T I & & # (f1%)
RH (m3) RE (m3) e (m3)
Al = B PR B BT E & EH T EE T 2 BT E & EH T EE = BT E & EH T EE =

ATR
NO. 6+1.5

121.50 |  —— A 00|  — @ - 00| = — @ -
NO. 6+5.0

125.00 3.50 7.9 7.90 27.65 0.0 0.00 0.00 0.0 0.00 0.00
NO. 6+7.0

127.00 2.00 4.0 5.95 11.90 0.0 0.00 0.00 0.0 0.00 0.00
NO. 6+7.0

127.00 0.00 3.8 3.90 0.00 0.2 0.10 0.00 0.2 0.10 0.00
NO. 7

140. 00 13.00 4.4 4.10 53.30 0.2 0.20 2.60 0.2 0.20 2.60
NO. 8

160. 00 20.00 3.2 3.80 76.00 2.0 1.10 22.00 1.3 0.75 15.00
NO. 9

180. 00 20.00 3.0 3.10 62.00 0.1 1.05 21.00 0.4 0.85 17.00
NO. 10

200. 00 20.00 3.4 3.20 64. 00 0.1 0.10 2.00 0.3 0.35 7.00
NO. 10+1.0

201.00 1.00 3.4 3.40 3.40 0.1 0.10 0.10 0.3 0.30 0.30
NO. 10+1.0

201.00 0.00 3.4 3.40 0.00 0.0 0.05 0.00 0.0 0.15 0.00
NO. 10+17.0

217.00 16. 00 2.8 3.10 49. 60 0.0 0.00 0.00 0.0 0.00 0.00

it 95.50 347.9 47.7 41.9




T =2 it (2
HEEET
L B g ¥ Al 2000 x 1.65 = 33.0
BB aEAE A2 74.0 x 0.67 = 49. 6
it 82.6 82.6 m?2




BE B I W = 5 HE E (3 ft4)

WERET
7" b¥vAMEERE T

L B4pgR# (H=1250) NO.7+16.5~N0.8+16.5

L = 20.0 = 200 m
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Gl

INBYKER T

FrERBBAERE (300X 300)

L = 14.0

FrE R 8 BaEAEIY))-E (BB, ¥=300, L=500)

N = 60.0

FFERBBAERE) -9 & (BEEA, W=300, L=1000)

N = 1.0

i B

(RftE)

74.0

60

7

m

®

®




B E ¥ WM X I B =

BEYRET

ST T (AS, t=15cmEL )

L = 2.3 + 35 + 3.5 + 11.0

SHERhRERIR L (t=4cm)

A = 271.8
V = 277.8 x 0.04
LB U
V = P 2.35 + 1.8

i oE

(Rfts)

20.3

2717.8

14.5

m2

m3

m3




o OE W = I B E B (3 f4)
HERET

I B 55 g 2 iR miE
4T X
NO.6+1.5

12150 | ——— 1030 [ ——|
NO. 6+5.0

125. 00 3.50 10. 30 10. 30 36.05
NO. 6+5.0

125. 00 0.00 6. 40 8.35 0.00
NO.6+7.0

127.00 2.00 2.50 4.45 8.90
NO.7

140. 00 13.00 2.40 2.45 31.85
NO. 8

160. 00 20.00 2.40 2.40 48.00
NO.9

180. 00 20.00 2.30 2.35 47.00
NO. 10

200. 00 20.00 2.30 2.30 46.00
NO.10+17.0

217.00 17.00 2.30 2.30 39.10
@)

5. 50 1.80 1.80 9.90
@
11.00 1.00 1.00 11.00
i 112. 00 277.80 0.00 0.00 0.00




4 X T H 2 &£ H % (L)

WET

HEMH%
RET (BAEBHEAS20F  t=4cm)

A = 469.1 = 469.1 m2

LEBRET (M-25 t=8cm)

A = 469.1 = 469.1 m2

TREHRET (RC-40 t=13cm)

A = 469.1 = 469.1 m2

EffET (RC-40 t=56cm)

A = 456.4 =  456.4 m2




S iR E (i)
=ET LERET TRERET BEfET

Al o= L H SEHINE mia H SEHINE mis H SEHJNE mia H SEHNE mia
ATR
NO. 6+1.5

12150 | —— 03|  ——] @ 03|  ——] @ 03|  ——] @ 03|  ——] @
NO. 6+5.0

125.00 3.50 10. 30 10. 30 36. 05 10. 30 10. 30 36. 05 10. 30 10. 30 36. 05 10. 30 10. 30 36. 05
NO. 6+7.0

127.00 2.00 5.00 7.65 15. 30 5.00 7.65 15. 30 5.00 7.65 15. 30 5.00 7.65 15. 30
NO. 6+7.0

127.00 0.00 4.58 4.79 0.00 4.58 4.79 0.00 4.58 4.79 0.00 4.50 4.75 0.00
NO. 7

140. 00 13.00 4.58 4.58 59. 54 4.58 4.58 59. 54 4.58 4.58 59. 54 4.50 4.50 58.50
NO. 8

160. 00 20.00 4.58 4.58 91.60 4.58 4.58 91.60 4.58 4.58 91.60 4.50 4.50 90. 00
NO. 9

180. 00 20.00 4.58 4.58 91.60 4.58 4.58 91.60 4.58 4.58 91.60 4.50 4.50 90. 00
NO. 10

200. 00 20.00 4.58 4.58 91.60 4.58 4.58 91.60 4.58 4.58 91.60 4.50 4.50 90. 00
NO. 10+17.0

217.00 17.00 4.58 4.58 77.86 4.58 4.58 77.86 4.58 4.58 77.86 4.50 4.50 76.50
@

11.00 0.50 0.50 5.50 0.50 0.50 5.50 0.50 0.50 5.50
g 106. 50 469. 05 469. 05 469. 05 456. 35




B M % I % B # ¥ B seti#)
HEESRT
XEHRT (5MEIEE A Vb=, W=15cm)
L =(¢ 37 + 130 + 200 + 200 + 20.0 + 17.0) x 2 = 187.4 m
hESERIOovH/ T
L = 27.0 = 27.0 m
EREBERMBRETL
ERNJET
= 18.0 X

N = 18.0
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% & oy & [B75E 50 8 5#:] (B (1/1)
T f& ol A B % HNL | Y | A A A
AT PEEI T A m3 8 7.8
PR T R m3 20 20.8
WRET R m3 10 13.0
VRS T T ¥ AL m3 10 14.2
PEaE T 7" VR A MgERE T 7" VA LB RS H=750 m 10 10.0
7" VA AL A BERE H=1000 m 16 16.0
SR IE FE T E m2 29 29. 2
HEYE L WY B LT [&EDIk T 7A77Wh t=165ecmBL R m 28 28.2
SHEE R T TA77VE t=10cmEh m2 29 28.6
El S E R T TA77Vh L=3. 2km m3 1 1.1
U TAT b m3 1 1.4
V)Y = MR A A P TR, m3 0.4 0. 42
v 8 UasEis T TR L=8. 1km m3 0.4 0. 42
VAL ¢ TREL t 1 1.05
LT HEHEE T FET AR FEEAS20F t=4cm m?2 29 28.6
LiEEAET M-25  t=10cm m?2 29 28.6
T8 AR RC-40 t=25cm m?2 29 28. 6




T I #% = & 5 = (E)

ERTT
PR HEl
Vo= 0.3 x 26.0 = 7.8 m3
R1E
Vo= 0.8 x 26.0 = 9208 m3
R
Vo= 0.5 x 26.0 = 13.0 m3
b Jm 1 (X=Z13% (=0.9)
0.9 ) = 142 m3

v = 1.8 + 20.8 - ( 130 -




T I % = 5 B ZE (BH)
HEEET
L #YBERE H=0.75 Al = 10.0 x 1.00 = 10.0
H=1.00 A2 = 16.0 x 1.20 = 19. 2
5t 29.2 =  929.2 m2




(EH)

I

B 2 I % & i F&

WERET
7" b¥vAMEERE T

L B4pg=E (H=750) NO.6+10.5~N0.7+0.5

L = 10.0 = 10.0 m

L BY4EEE (H=1000) NO.7+0.5~NO. 7+16.5

L = 16.0 = 16.0 m




B & M B = I #%# 2 it E £ EL:Y

BEYRET

ST T (AS, t=15cmL )

L = 2.0 + 1.1 x 2 = 28.2 m

SHERARERIR L (t=4cm)

A = 1.1 x 26.0 = 28.6 m2

V = 28.6 x 0.04 = 1.1 m3
LB U

V = 1.1 x 2.35 + 1.8 = 1.4 m3

“RE &N (LEBEEEH1000, L=2m (W=1047kg/2m) )

W = 1047 , 1000 = 1.05 t

ZRERBIEL. Ei

v = 1.0 , 2.5 = 0.42 m3
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RETL

LRERET

TERET
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B
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(BAEFERIEAS20F  t=4cm)

1.1 x 26.0

(M-25 t=10cm)

1.1 x 26.0

(RC-40 t=25cm)

1.1 x 26.0

i o=

(i)

28.6 m2

28.6 m2

28.6 m2




AT REICHEAL-RIEEM

LLESRFS REYXRSE LD = REYXRSE R TE B e &
B B 1 B {if
LA e R ER=E T RAF9I(#) ROy

H1250 L2000 BAA 7

T4 841
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Pt s E HEBTABBRETILSEE BRUBIE EE508EH
o o- EHETH 0 .- VR 28 4 10 A 4 H ~ Pk 29 4 1 A 31
AT RN e SRk 28 £ 12 A 1 B ~ ¥k 29 4 3 A 31
SR AEE e R 28 A 12 A 15 B o~ ERL 29 4 3 A 15
1 BIGEHLZOME (EEMICHE OnE) 9250 T203L0REETIHEEL. KE2%ET5, )
EHH] & L F [ AHTF | BEFRE
A H % | H % | H % a @ AHIE
B X5y ) A £ HHIEAR K
4
A 44K Hh G S T N Atk 1.20
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6 A
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) 1 AARITDHOELLTE SN T HEA DHEE 2L LT 5,
9 A
2 WIERITDEOELUTE SN CHUBTA DEEFE 2L T 5,
10 A 28
11 /3 30
62
12 f 31 31 16 AR = = 52 %
120
1A 31 31 31
MER = &M x MERK = * =
2 A
3 A
& gt 120 62 i7 b BT (3v2)-MTA-74vF A CABRR <)
X455 L M o - LOF OB O K & fHIESE (BlGE) HHIE SR (L3 IR)
Wit (D I DHIX 1.0 1.5
LI e
0.5 1.0
S 0.5 1.0
0.0 0.0
fEMAEE = + = (=£2.00%)
2 FEdiay)) - A KGR = =
% & W Rl 7 B =Y B S
m3
m3
m3
m3
m3
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